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MR ETH £ X ET 41 4 z
TEETH X 82 90 172 | il mT 2 3 5
FHEFAE I X 77 87 164 | 2 HT 1 6 7
THETREEX 86 79 165 | HEHT 2 1 3
TEEMEERX 44 80 124 | FEERET 5 10 15
TR X 41 46 87
THEMEIERX 121 118 239 | JLHJULEHET 5 6 11
FEmEt 451 500 951 | 2 (LT 1 4 5
k- 12 25 37 | BZEHT 6 5 11
)il 278 272 550 | ILEARET 12 15 27
it T 251 325 576
A 1L 8 14 22 | —'=HT 2 4 6
AR 27 31 58 | RERHT 1 1 2
AT 194 189 383 | &AEK 2 5 7
B T 33 42 75 | BET 2 4 6
IR T 26 24 50 | EARAT 2 3 5
Ff HH T 45 54 99 | FrgHT 2 1 3
LV =aif] 67 108 175 | REEBE 11 18 29
W 9 19 28
JE T 5 10 15 | KZE=HT 2 - 2
HEET 116 97 213 | 1H1EHT 1 3 4
i 172 209 381 | RPBARET 3 3 6
TR T 2 9 11
Nl 68 69 137 | JEpaHT 1 2 3
i LT 90 92 182 | REERET 1 2 3
INTAR 83 83 166 | BTH#TET 40 64 104
A ] 66 81 147
WS )11 9 12 21 | &&t 2,439 2,770 5,209
S i 47 47 94
BT 13 19 32 | RiBPLH1IXET 289 287 576
(=8Ca) 7 13 20 | RimbLE2XET 276 267 543
izt 145 119 264 | RiEPLFHIIXF 109 115 224
DU 538 T 31 48 79 | REEPLEFHAXGE 234 280 514
b T 7 12 19 | ZREFEHEEXET 374 330 704
J\HE T 5 11 16 | ZREPTH6X G 182 177 359
F7E i 38 38 76 | REPLETIXE 184 207 391
=P ] 25 24 49 | REEPLFESXFT 224 265 489
=] 20 19 39 | REPLFIXFT 147 247 394
A AR i 11 21 32 | RiEPLF 10X G 86 138 224
[T BE 77 3 7 10 | 2P 11X G 82 119 201
i 12 28 40 | REBRBTH 121X 83 124 207
LT 9 12 21 | Rigbr 13X G 169 214 383
WA 2 12 14 | M5 X 229 211 440
PN IS 12 11 23 | M6 X 49 61 110
it 2,399 2,706 5105 | At 4 X 234 280 514
g 1 3 X 17 45 62
18 % H-HT 4 9 13 | T 6 X 133 116 249
ST 4 7 11| RFH 7K 61 73 134
FNFEERET 8 16 24 | tATH 8 X 158 184 342
il 3K 14 25 39
BEOEHT 1 0 X 4 4 8
BEOEHT 1 1 X 2 1 3




